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Part A
History and Culture

Which of the following was not the feature of | 1.

the Guilds during the Gupta Period ?

(1) Minted Coins

(2)  Non-Autonomous Bodies

(3)  Maintained Armed Bodies

(4)  Worked as Bankers

g'hc_ account of Greek (Yavana) invasion

uring the reign of Pushyamitra Sunga is

available in :

L. Gargi - Samhita

II.  Patanjali - Mahabhashya

ITII. Kalidasa — Malavikagnimitra

IV. Visakhadatta — Mudrarakshasa
Choose the correct answer using the codes
given below :
(1) I, Il andIN
(2) II,III and IV
(3) I, IIandIV
(4) I,IIandIV

Choose the correct statement regarding 3.
Nalanda University at the time" of
Harshavardana :

(1) Harshavardana donated 10,000 yillages
to the university. ‘

(2) The number of teachers in the
university were 15,000,

(3) Silabhadra was the Chancellor of the
university.

(4) The medium of instruction was Pali.

Match the following taxes :
Name Tax
a. Navidadere I. Tax on Marriage
b. Melivamsam II. Tax on Barbers
¢. Manevana I11. Tax on Ploughs
d. Tudimeya IV. Tax on Houses
Choose the correct answer using the codes
given below :
a b c d
M n 1 v I
@ n v m I
m 2 I v o
I 1 1

(4)

A4) 1,11 00k IV

2B A
2358 SBaS» g0 b y
Bod o8S' DO MY oo Be

©§ 00 s

1) SBoDS SH

@) DH5aHo 1HAHY B JoYeD -
(3) A aaon‘g‘& £ON HoBD
4) 2rsofdmr HATTD
:a:m;a)és HoHd seodd i (AHSS)
BOBATSH HOROHODS Des'
[SYANTA

L mQ - dored

I HSozd=&deras

I SO - SPEDSH)W(S

IV. Dot —SdoES

BHS Bdt08S FHoSH adEriod OB
AP HotEod !

(1), 1II S0ck» I

(2) 11, 111 SH8ai IV

(3)" 1,1 H8cw IV:

TGS R S INWEN A Seo

DD IODSVIZ  DoDOHOD  AJS

(D53 dothsod :

(1) ESG0 DE DT §OV0NE
10,000 (PSP L3P T3 Y.

(2) DIINTIOGHOS'A G T IOV
PoWE 15,000.

(3) 0B D DO OCH Hods.
4) G S50 9.
1808 H) O BSDHE AW :

e Sel))

0688 I doiron san
BOS0%0 I BondareD H0)
2338 ML Snen H80)

d. &HaDoh V' dydrsne H)
BIHS 25205 EBoS® GHraod 09

TP

14

HIFTIR) docsod :

a b c d
(1) 1 111 v |
(2) 1II v 111 I’
3) 1 111 v 11
4 IV 11 I 1
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(5)

Arrange the following temples of Ellora in|g,

chronological order according to their time of
construction :

1. Ravan ki Khai

I1. Kailasanatha

II1. Dashavatara

IV. Dumar Lena

Choose the correct answer using the codes
given below :

() ILIV,IILI

(2) LHOLIV,I

(3) HLLIV,.I

(4 HOILIV,ILI

Match the following terms with their
meaning related to village administration of
the Cholas :

a. Variyam I. Ward
b. Kudumba II. Lottery system
¢. Kudavolai ITI. Member of the village

assembly
d. Perumakkal IV. Committee system

Choose the correct answer using the ches

given below :

a b c d
n w .1 I IT
(2) 1 I I w
@) 1 n i

4 1 v 11 II

Which of the following highways existed
during the rule of Kakatiyas ?
I Orugallu - Tripuranthakam — Nellore
I Dwarasamudra — Ballari — Orugallu
IL  Motupalli - Tripuranthakam — Ballari
V. Palnadu - Nalgonda - Nekarikallu -
Orugallu
hoose the correct answer using the codes
given b&low :
(D Tand 11 only
(2) M and 111 only
(3) Il and IV only
4} Tand IV only

a8 NO™E S ST [OTNVIWo-ToTe o

sodEDor 1808 ST wociros
DTN TOHOB :

. o%0 s

1. 3¢

1. &S s

IV. &8 BS

BHS BSDAS SBOD GITrAod HBS

 AITTTR), JONE0B :

(n ILIV,ILI
(2) LILIV, I
(3 HOLLIV,.II
4 HOLIV,ILI

SO Mmed HBreS HSoododS Eod
SO IS ©Foerd e HOHSW :

a. 0RO . a9

. Soéno L er&d HOB

c. oSS L e O HedHgch
d. DEDHS IV, E0ed 5589

OIS BS;DAS FHODH ADHAOD HBS

RAFTTR) oS :

a b c d
1) IV I 1 11
(2) I I I v
(3) 1Iv 1 11 111
4 I v 111 ¢ R

S8 JoS TBE ad)  HoS
SrordHe O ?

L 400 - (8yorosso - Serd

IL & 500030 - 29798 - 4,88

I Jréndd) - Ayorosso - 290

IV. deorych - S0 - FEBEW - .54
BHS BH50AS FBOD ABTrNOD HBS
RSFTER) dotsod

(1) 100w I SeSdh

(2) 118w I SMedsh

(8) IO IV IMSDh -

4) 15805 IV SmeH
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8.

10.

(6)
B o adisrd R IEoR of e 28

Which of the principles are common for Bhakti

and Sufi movement ?

I Monotheism

11.  Asceticism

III. Religious tolerance

IV. Accepted the idol worship to some oxtent

Choose the correct answer using the codes

given below :

(1) L II and III only
(2) II, Il and IV only
(3) I, 1l and IV only
(4) I,1I and IV only

Choose the incorrect pair regarding the foreign
chronicles of the Vijayanagara Period :
Described the
conditions during

the reign of
Devaraya Il

(1) Abdur Razzaq  —

— Described
the rule prri'dmn
Devaraya

Wrote about the
conditions of
Vijayanagara after
the battle of
Rakshasa Tangadi

Visited during the
reign of Achyuta
Devaraya

(2) Domingo Paes

(3) Caesar Frederick —

(4) Nikitin

who permitted Jesuits

The Vijayanagra ruler
llore and Chandragiri

o build churches at Ne
was

(1) Devaraya Il

(2) Venkatapati Raya II

(3) Thirumala Raya 1

4)  Sadasiva Raya 11

L O8FE>IS

I DRaw

M 08 IR0

IV. SosS05 A OO wofi500t80
Bd aspos SEOD &HOIN0D OB
DT TR JoEod:

(1) 1,11 Soasn I Smed
(2) 11, 111 Sobosw IV IreSD
@ 1,005 IV AMSD -

(4). T, 11 D85 IV Sredad

NeeHdEs  Ses Sodd 2T3cwe

rred’ 3858 S BSD #8050 :

V) epd - Gsocadboll
o208 - Foarseo T8
HBRS$HO) SQocrdd
2 Sxoff - &5 B3oabe
DR oo SPordd
3 ~2b _ oid Soid awgo
L’c’.)ébg Sorged o3 D2aHIHO
HOPHO (TR
@) 8BS - s BIo"A0e
oo oo
A BSobm ST
10, Berdy, SOBNCOS" S50)e0 DOOWES

BHr S O ©DBD)S  JBADSHS
erdo BSD ? '

(1) SSoronen Il

(2) Iogerdaorainen IT -

(3) ASverorahen 1

(4) Serssorainen 11
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11.  Which of the following incidents took place
during the reign of Jahangir ?

1. The fifth Sikh Guru, Arjan Dev was
sentenced to death

Victroy over Rajputs of Mewar
Annexation of Kabul and Kandahar

Arrival of English East India Company
to India

Choose the correct answer using the codes
given below :

(1) I, IIand III only
(2) II, I and IV only
(3) I, III and IV only
(4) I, IIand IV only

IL
IIL.
IV.

Match the following revenue officials during
the reign of Akbar with their duties :

a. Amalguzar 1. Kept records of the
revenue payable by the
villages

b. Karkuns II. Revenue Collector
in-charge of a District

c. Qanungo III. Accountant

d. Bitikchi IV. Prepared the seasonal
crop statistics "

Choose the correct answer using the codes
given below : .

e

a b c N\d &
(1) 11 1AY W3 I
(2) 1 v I I
3 1w II 1 111
4) m I v II
13. The longest Trunk Road constructed by
Shershah which still exists is
(1) Agra to Burhanpur
(2) Indus to Sonargaon
(3)  Agra to Chittor

(7]

»l <

(4)  Lahore to Multan

11.

12.

13.

237008 JosiEos 8o DS D
dosneIden Sen Tndoaryon

L Q50 DOS Ntk Nt ©8S B35 S
66 28 DAL

DB TraH e DaaHo
s, SoLI0 © e

Rofi0 &Q ROBAT LoD BosST S
&5e050

O BSJAES Shod GITrAcd JBS

DArET R} Qocvtod :

(1) I, 11 00csw I SMedsdh

(2) II, I SHOai» IV SmMedad

(3) I, I S80I IV Sedadh -

(4) L1100 IV Sresh

o808 swomTd $od DOS) BILrg

BOHTROD T0 rdSes 28 Tohod

a. @G b L. (mdre B3y HD
DVSTED F|SHSSE0

II. BASrg Soren TR
STCD 2.8 25 AN
b

1L feaSoch

IV. " M S
0L DT
BE 0% Saird
BAESTS e 3

BN 235265 FBOKH GHBAAOD $SBS
QST Jothsos :
' a b “ig

| S b L

11 v I
vV o I 11
(4 m I Y i

J8E  J00S) Db B J0;0OS
ESS rodh (008 585

(1) &rr Hod 200 36 -

(2) 204 Hod So>Emro

B eroHod OSE

@) oJUD Hod SweS

IL
I11.
IV.

A b, £5%HS)

y ’ Ld
TeRyai!

ES0f
d. De38,

C.

d
T e
I

(1)
(@)
(3)
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14.

15'

lel

Match the following books with ther
authors : N
a. India at the Death L Irfan Habi
of Akbar | _ )
b. The Agrarian 1. Frangois Bernier
System of Mughal

India, 1556 - 1707
¢. Travels in the
Mogul Empire :
AD 1656 — 1668
d. Early Travels in
India, 1583 - 1619
Choose the correct answer using the codes

[11. William Foster

IV. Moreland

given below :

a b c d
(1 1Iv II II I
(2) 1ImI I v II
8 IV I Il I
(4) 1 v I I

The following historian contended « that

Taj Mahal is a combination ‘of European and |

Asiatic genius :
(1) Ralph Fitch
(2) Tavernier
(3) V.A. Smith
(4) Fergusson

Match the following with the year they
were formulated :

a. Famine Code I. 1881

b. Vernacular Press Act II. 1878

c. Charles Wood's Despatch on III. 1883
Education

d. 1% Factory Act IV. 1854

Choose the correct answer ' l
given below : er using the codes

n b c d
2) 1 n v i
3) 1w m 1 I
@ m n v l

14.

16.

&

1o %8, SDBS HoTod o4
Ssonsed 2 FoHod :
e ei)b z‘ :s
s %»né 20805, By HE
1556 — 1707 O
S IOHS
; JoW5: o8
\&.4. 1656 - 1668
6 M r3s)yas v, 306 8ok

=008y, 1583 - 1619
8BS 23588 600 GJTrAOD T

BT dohsod :

a. b c d
(1y 1V III II I
@ T 1 v I
@3 1Iv I II I
4 I v I I

2808 SOSSH® =F HIS 08I,
GO HE Soons & DE T IWM

(1 od)ds

(2) &30 008 -

(3 DS

4) 2PIS

106 I8 @d  esoDodd
DOSE YES0OES” 2368 HETHSD
a. 509 S I. 1881
b. P8 7l H 85 S&o II, 1878
c. DSOS BN &a8)

ByS III. 1883

d. Jocded >Ed S&o IV. 1854

OHS AB528S TBoOSH AITrAod B

VATV dothod :

a b c d
@M m v x. 3
2) 1 I v 101
@ v m I o -
W m n v I
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18. Match the following Pres:dents of Indxan
National Congress with their meeBngs‘ .

~a. Dadabhai Naoroji 1. Madras 1887 .
b. Badruddin Tyabji’ ’n_ 'Bomﬁay 1889
2

'fl

e GeorgeYule m Allahabad 1888

P

d.- William Wedderbum IV. Calcutta — 1886

!

pit

Choose the oorrect -answer; usu;g the codes

r A 19)
17. Arrange the following incidents of Rebellion |77
) ; L 17. 23 =
against East India Company in the State of > oSS'aOSr 200«33 R
Hyderabad in chronological order ‘i&) £550 o)i)ﬁ)are.n ROMBSOD
SPere|d ™ D85S @
‘1. - Attack of 'I‘urrebaz Khan_ on  British| "' TEoes SO H8yF S [EATA Y
Residence in Hyderabad DTHO™ B
1L Imprisonment-of Mubariz-ud-Daula in| 1l M908 $06' 502565 aTerd ob
Golkonda Fort woheo |
. In Aurangabapl, I Contingent Cavalry T 2(:,:;:6 gé-"&) : 56 @%55 6«:
was suspected, disarmed and arrested & ' Qé & Sl T B 0
S0
IV." ‘The " rebellion of Raja_ Venkatappa| 1y, oy Moo orarSosesssy wrass
Nayaka of Shorapur 2 S0
Cg::s:e ltoI:: correct answer usms tfie codes OMS, BSIDAS FBOLH ADHArAoD HJS
gi e AT RTTIR), oS0 :
(1 IVIIIIII /@), IV, OL LI,
(B !
(@) nmxrv | Rl g oy
“r (3) = n I m IV R "“’rj 3 53 'q(,g)\ 'UJ& *U'!&H;Y-h-’ o4
Saon e i (et A ! (3) ILILIIIV
@ LIIvm A weseNY @ Lmvm

18. (808 arde 2AoH SOLAR @cs;s.a; o8
JSdrIvod = od)x.&&’m 3
oo 6B 1. e - 1887

Oida 15.qu@§‘5 és',g@"‘n, 5.‘023'0.1)_ 1889
fave. 20) oS 11, e - 1888
T DOHS v gogg' 1886

i ‘3@52&6;

-‘ "6&&’)"&552)6&’) FHOD AaHErAoD HBS

a,

CEvenbelow: e scssin aois (e SPPSRD) dothEods:
a bl',l;‘..‘-)i.-- € :2'd e ‘ ‘a b c Y
(1 IV" s < s ‘J ’f /. ‘ 1 IV I o
@ m o, N I, g 2 m - v
@ v I, 111 GRS | R ® IV I m
@ n- 1w mt v 4 1 v m I
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19. The following book was translated by Gandhiji [19, (8§08 305’ modd AOFSAD WS

with the title Sarvodaya : ©DNIBOD0E IO :
(1) John Ruskin - Unto This Last (1) 2SS - OISy -
(2) LeoTolstoy - The Kingdom of God (2) OFrérdS) - 6O Solied &% 8
is Within Youl B3OS 225 Dedes Al
(3) Karl Marx - Das Kapital @) 65 S8y - orR St
(4) Maxim Gorky — The Lower Depth ’ *
| m Gorky e er Depths @) 78S 5‘02, L ASwSE 8393

20. Match the following newspapers with the 20, 808 FTHDEOD, 88 50200008
persons associated with them :

3 3 SIS 2e8HBISW :
a. Indian Sociologist 1.  Virendra
Chattopadhyay a, ROBCHS 1. dBold
b. Islamic Fraternity II. Shyamji Krishna AR SE>orgad
ViaruA b, 2 02e3 IL 75 2 §0S8;
¢. The Talwar III. Muhammad )
y Barkatullah c. O&ersd II1. T8

i Lol Cpf z_)éb&g
d. Swadesh Sevak IV. GD.Kumar

d. 8T VS8 V. 2.8. 5505
Choose the correct answer using the codes

given below : [ .\ ONS RIIDBS FBODH AHTrhod HJS
= b ¢ d DIFTFTR) dochFod :
(1) 1I I L9 § v a b c d
@ v ™o 1 M mom 1 v
3 1 v 1 1M 2 v m 1.
4 I 11 m v ‘ 3 I v I 111
4 1 11 III v

21. The idea of Indian Constituent Assembly was

put forward for the first time by 21, 2088 oramson 525 ©F eSisss I0OST
(1) = Dr. BR. Ambedkar SNOCHE DS 8
2 CR.Das (1) o Db 0055
(2) Vb o
. R @) 2D 508
W MN.Rey @ D08 o *




5/1G/100
(11)

i [B]
. Match the following authors with : (8]
their
works : -~ Es;?m:tiom‘o‘m T8 SSonsos 2368
i i R o) :

a. Al-Biruni L. Tarigh-i-Firoz Shahi a. ®©O-THD

b. Minhaj-us-Siraj I Tahqiq-i-Hind ' L :?m-a-ws
o

¢. Ziauddin Barani III. The Rihla

b. PT-eF -0 11, Sipbs.g.e
d. Ibn Battuta IV. Tabaqat-i-Nasir R-23708

c. ZOTAGES 0V IIL & Birer
Choose the correct answer using the codes

given below : d. 28 2ené IV. $r88.3-5%8
L& o - id BIDS BBBS FHODH GHATROD 5B
@ 1 v I I RTFTTR) JOTREOS ;
a b c d
@ ‘v, B Bt W o ™m{NI m-
@ m IV m 1 @ v R 11
@ I I IV I @ 1/ av o 1
(4) o I ] IV 1

Which of the following institutions were not :
established during the Non-Cooperation|23. QAN Jorddes®d Hdovhoes® ($0d

L Besant Theosophical College, L D088 HTBrANES sT2, 50658550
. 3“""“‘“ lellah{lel L 3 L 20sr DO 2Dy, A

. Jamia a Islamia, De , -
I Kashi Vidyapith, Benaras | . 53doy “"f' S0
IV.  Aligarh Muslim University, Aligarh IV. ednd AVRO ARS8 ) e8, dns
Choose the correct answer using the codes ODS 2S5088 FBODH GHTrAod OB S
given below : ' «‘66)‘(;‘5‘&),1 D0tH80S -

(1) Tand Il only

a D) 156050 I SMeSH
) IIand III only
2
3) 1 and IV only (2) I S8 I SvesTh
(4) TandIVonly (3) I SH8ckn IV Sressh

4) T8k IV SessH
The Indian Independence Bill was introduced
in the House of Commons by the British Prime [24. - 2768 R sefoles DHens DR HEW ol

Minister Attlee on % D_UD sHSS & s B8
: : i (DIF S
n
1) 2nd July, 1 1) 228, 1947
(2) 3 July, 1947 @) 328, 1947 ¢
(3) 4t July, 1947 @) 4 27, 1947

(4) 5 July, 1947 @) 52~8, 1947
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25. During the Indus Valley Civilization, the

27.

beads manufacturing industry was located at
(1
(2)
(3)
(4)

Dholavira
Suktagendor
Chanhudaro
Daimabad

Select the correct statements about religious
beliefs of the Rig Vedic Period :

L Dyus was a celestial God of the Rig
Vedic Aryans similar to Jupiter of the
Greeks.

II. Prithvi was considered as the mother of
all Gods,

III. Agni was worshipped as the
intermediary of taking the offerings to
the deities.

IV. Cow sacrifice was also the part ‘of
worship.

I, IT and III only Bl SR
I1, IIT and IV only_

I, IIT and TV only

I, 1T and IV only «

(1)
(2)
(3)
4)

Match the following schools of philosophies
with their theories :

a. Sankhya - I. Predetermined fate
theory

b. Vaisheshika II. World was formed by the

‘ . blending of nature

¢. Lokayata III. Considered Atom as
basis of the world

d. Ajivika IV. Advocated materialistic
ideology

Choose the correct answer using the codes
given below :

a b c d
(1 1 v I I
2 1 m v 1
3 IV m I I
4) I 1 v II

(12)

25.

@

206 Sob S0Es sood’, Fde Scing
HOFD ¥ OTO

1) odd

(2) o8204b

3 b

4) Barard

207185 SO NS DT IO doFodod
1B arsiod HBood :
L (Ao 2~DHeb S8 20858 edies
BSO8R OS5 Tahch.
I 59080 Bis00s08 SO erdodary,
L E38S0% AIsSosH 8 I,
eGS0 8D FBoTo.
IV. 90 2O andsdo srar spad’ oror
GoTo.
I, T SH8as%n I Smedsdh
11, II1 S8 asw IV Somedad
(3) I, I 0050 IV S8 »
(4) 1,11 00k [V Smedad

808 Joros TepodH I8, dFomed
28TaHod :

6 ¥
(2)

a. o®; 1 Swod VISV 6
oFrosso

b, SI0E L 1D%S Soowss
DDOLSo NG B0D

c. S'TONS 11 WV (HHOTRS
D AHOEM HOKITE

4. eAdE  [v. TBEIES rSererd)
EATTA e

BHS BS50BS FHoS andiriod B9

RDATTTR) DoSod :

a b c d

(1) 1I v 1 1

2 I I A

3 v I n1

@4 Im I v I
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28. Hathigumpha inscription of Kharavela gave |28. OIND JGHOD THI0 VoK (rsost
the details of irrigation facilities provided in 3% ZO1008 HB Hse  DIodD
the Kalinga Region by SenHSH0d a
(1) Mahapadmananda (1) DS B0
(2) Bimbisara 2 DoDJE
@) Ajatasatru 3 02SiN
: 4) o35
(4). -Ashoks 29. ©FHD TOTOD DOWOKOD  ABS
; H8050b :
Select the correct statements regarding the TSTHED (DL )
inscriptions of Ashoka : L zgf;:n ‘pb‘??‘ Lﬁg’ 8D Ooaoé'
I They are in Brahmi, Kharosthi, Greek In. Mi):m SEED Sy, 18 s
nd Aramitis SCripis. ST Dl S8B0O.
II. The Monarch’s name was mentioned as ‘K v
: I 55765 raT0d0S"
Ashoka only in Maski and Gurjara & 8
inscriptions. f?;gd’ ;‘ms'é"\" |H%o oo DR
o) 23"0N.
III. The XIII Rock edict mentioned the » :
names of the five Greek Rulers as his v. ;a‘mm' DES FTTIT é‘ )G
contemporaries. 30658 20N OIS S oSnFTen
é =
IV. The IV and V edicts mentioned the war d&&é&@'w.
of succession with his brothers. 1) LI 005 I Sresah ¢
(1) 1,11 and ITI only 2 I, IIT 8050 IV Sriedad
(2) 11, 11T and IV only S; : :IU;:’OQ‘D v &lé;
. DS IV Sredad *
(3) L III and IV only ‘
30. 1808 VOS) HoTrod
(4) I,IIand IV only aé?a‘oﬁ».m)?‘ o % sogusoh
Match the following books with their authors : a. (OF IO L eods
a. Prajnaparamita L Acharya Kundakunda . gfossvoo
b. Samayasara [1. Sarvavarma b. ReHOHIE I 455562 .
c. Lilavati I11.Acharya Nagarjuna ¢. Orsd 588090 III. S5 TTPS
Parinayam :
d. Katantra IV. Kuthuhala d.  5So|S 8820 V. Sodrdo
Vyakaranam
Choose the correct answer using the codes P BIDAS 808 addiriod 08
given below : TR wotHsod :
a b c d a b c d
(y m 1 n v W m I 1 v
@ 1 11 v I @ 1 11 v
® m 1 v I @ m 1 v I
m v @ 1 1 m Iv
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81.

Part B
Constitution, Polity, Social Justice and
ternational Relations

The powers—of the Election Commission

include which of the following ?

1. The Election Commission takes
decisions on every aspect of conduct and
control of elections from the

announcement of elections to the
declaration of results.

II.  During the election period, the Election
Commission can order the Government
to dismiss some government officials.

When on election duty, Government
officers work under the control of the
Election Commission.

Choose the correct answer using the codes
given below :

(1)
(2)
(3)
(4)

I and II only
I and I11 only g

I only
All of the above

What is/are the provision(s) to safeguard the
autonomy of the SupremeCourt of India ?

I. While appointing the Supreme Court
Judges, the President of India has to
consult the Chief Justice of India.

II. The Supreme Court Judges can be

removed by the Chief Justice of India

only.

The salaries of the Judges are charged on

the Consolidated Fund of India on which

the legislature does not have to vote.

Which of the statements given above is/are
correct 7

(1) Tand III only

(2) 1and Il only

(3) 111 only

4) 1,1 andIN

>fB

s SRLTAS, 2O, FAS 2JD wof

20OBFTASS 8TAS,

31. JMFe IAS efsTen S0O Ias

32.

3632 5On woerow ?
L 280 (HEOS Hod DB HE
365 S0 AOITR, Ao

DONOSRE AONVOHOVD  1HA
®030 HVZO D00 AFairey
S0F0EN0D.

I D80 dhovod, Fossos
s e@dsdhosn Soflomrod
dNse PeToRs o) (QZDE )
BBR055T0).

I Ay DS ad)HIW, HMe;
O Q) S IS Te Vo)
DAHOSES’ DT B.

BHS RS288 FBHON AHArAoD TS

DTN JotEoB :

(1) I88cm IT S

(2) 1000 I SrMedad

3) I3rmesd

@) IV '

>éd Do FH  H0H0HBHE

HOBL0T D2OLS(EN) DDES ?

L DR Tiohrdded
QOHNOTEY I, 3rGes oIS i
(DG T°§ODAE DODHAOLISON
GOotNOR.

II. 008 T sohsurdersd arde (D

5000 SMSH SoRotdrod.

54 025 2,40 FADSORS wSHG0 S
6 S5OTRE Ho8 SHod zdO
deren TOJH.

20 DS VODosros HE
B SO/ABID ?

(1) 15005 I SMSS, »

(2) 10w II Sredsh

(3) I SMS%H

4) I, I 8aiw 111

L.
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g3. Which of the following are not included in the [g33. 8§08 TS DO DT wdHen whSE
original jurisdiction of the Supreme Court ? K)OOCS‘ DO nAE N ?
. Adispute between two or more States. L. Bod B ®OSE0D IBYS OV
II. A dispute regarding elections to either 085§ DaIE0.
House of the Parliament or that of 1 DOD0en Sor o1Q TOSHBE 200
Legislature of a State. >
= : DD EeE0 HODOBODS DTEO.
[II. A dispute between the vernment o 5
India and a Union Territory. oL 2rds D50, Tords roso
V. A dispute between the Government of B0655 DTE0-
India and one or more States. IV. 2r8e D50, 2,563 B ©osso®
Choose the correct answer using the codes D80y T DS DITRO.
given below : BHS asHAS Fhos adIrA0D SBS
(1) TandII : DHITOTR OHEB
(2) IlandIII (1)4 T80 I
(3) IandIV 2 H n8asw III .
(4) IHIandIV 8 IH6ak»IV
(4) I Hdasw IV
4. The National Commission for Scheduled :
34, EG Hoo 2rA0H FDIS, B

Castes, while investigating any matter or

inquiring into any complaint, has the powers DAV  DTODSD B ABI

on the following matters : ¢\ _ DO DO TSI, & (50O
I. It can receive evidenceson affidavits. ©0T0S" 0O T O O G0N0 :

I. It can requisition any public record from 1 @DAISD esGroTen oStD).

any court or office. I
. It can i ummo for th . B ¥ Bo sogooho Hod
; n issue 8 ns for the b e ¥
[
examination of  witnesses and o 8525 @255@05S).
documents. IL P, JEe H030S §'Ho SSHp
Choose the correct answer using the codes 20 Tahdew).
given below : | BHS 355288 FHosH aHTNOD IV
(1) TandII only QSFETTR), JoHEod :
(2) I and ITI only :1) I S00aw IT Sredad
2)
(3) Iand III only | 1 0008w 111 Sriedadh
(8)  I8a% 111 Sovedad

(4) All of the above (4) m&
-~ l -
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85. Consider the following Assertion (A) 8“..d.

Reason (R) and choose the correct code

Asserfl (A) Ul
Th:'hlament of lndm con'nsts of the

President and two Houses =
Reason (R) : ‘

- The President is a part of the'legislature
even though he does not sitin.Parliament

except for the purpose_ of dehvenng his
opening address. ; .

” 3

D

Code : .
(1) - Both (A) and (R) are true'and (R) is the]
. correct explanation of (A). - ;7
(2) . Both (A) and (R) are true, but (R)is not
the correct explam_mop of (A). - ..
(3) - (A)is true, but (R) is false. .
(4) (A)is false, but (R) is true..: AL )
A _.-.:.. P-;- P (r"

Which of the followmg arc amOng the

Fundamental Duties of citizens laid down in|

the Indian Constitutian 2.~ oy U0 e d

I.  To protect the wéaker sections from
social injustice, & % S 0 B, e

IL  To develop scienitific tefper and s spirit of
inquiry. 5y 0 8 DS NN Oy y

II1.
composite culture,

To safeguard public property and hcbure
violence,

v,

.
r_~‘,.

Which of the statements. gwen
correct ? .

(1)

(2)

(3)
(4)

“.'i'?.".'#m

-
e .l‘?\.'.)

Il and 11 only -
I and 111 only
1L, 11T and 1V
All of the above

(16}

.

To preserve the nch hentage of our|

35, 806 GN¥0 (A) s'dsbo.(R) “Oﬁiﬁog;
& 5B EB oS0l i - i

A h

A 0ol 17 VB iz
e TS ;3-65)0&»6' 01 58, ' Bog
' coe;ﬁe» aoes-ooo
560 (R) :
TLRID S @'6025 cooﬁo S‘«oo 85y
EDotns wb‘aéosﬁg THIVS
arifo. RN
g8en : :
(A)(R) BO&r D20 (R) ®IO (A)éo
ROBDIGED:: vt Wl R

:‘"" ¥ asth ’!’,’ 24 |

2 @® Ooc&r aaso s-b ®) @3& (@&
Bt DSBS Do S,

9 = ) S

(1)

y 3 J s

F 5 Alrr; p 1) YR
Hi8). 104020, S .(R)- éa@.}m SEELE
‘ HLAT SR LA

@ (A SH) TH®R) &)azo_; QR
(e Py o |1n‘ \

36. 6S  Toros . JBADS &

WS DS’ 806 FBS DD, BT I00?

L 28 eoioho od 20
59‘0&» 6&06&0

)f!) A

L ’81!90& 605.%)0 awda (\13'36'0
ooc'oaoééo oy

I 0 oFed K)o:gz,,)a m_) aéaasal
} SIS0, s sk i

V. 182 oo s8osdo, modd
e@g‘:ﬁéo ;

a0ty -'L)é. ':)W ‘QQB)OQCXS‘ DQ “\I)J§a
() I S8asw I S

A

Loyt 439V

(2) T8k 11 m-@sa, bug 13

L LM Sease iy,
ine Vi bag §17 B

(4) Qéb) gne Vi hag 12

sodu adpio A R
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§7. Which of the following entries of the Indian

Constitution deals with the institutions for
scientific or technical education financed by
the Government of India, wholly or in part,
and declared by Parliament, by law to be
institutions of national importance ?

(1) Entry 64

(2) Entry63

(3) Entry65

(4) Entry66

Who said “India is not a nation in the
traditional western sense but a comprehensive
culture of continental scope compounded of a
very large number of linguistic and religious
entities, highly complex and often strongly
antagonistic local cultures” ?

(1) Carl Friedrich

(2) P.H. Appleby

(3) Woodrow Wilson

(4) Jawaharlal Nehru

The Constitution confers wm of the
following Articles that denies the rights to
aliens (Foreign Citizens) ?

I Articles 29 and 30 '

II.  Article 19 .

II.  Articles 23 and 24

IV.  Article 16

Choose the correct answer using the codes
given below :

(1) 11 and IIT only
(2) 1,1 and IV only
(3) Il and IV only

(4) Al of the above

(17)

37.

28 02rofioS'D 808 TS Sy Do
o8B D Fho 28 (DS o LB
do Jifor den  HHErGHDO.
280D SNBSS EOAS dodenr o
o 40" FEDOLNT (HEEBoSDA0H ?

(1) oS (STre) 64 «

(2) .)oLe.S (SToeED) 63

3) o8 (IJre) 65

(4) Dol () 66

wrSSEIo oHod Ja s Swos’ 8
Bio s, T8O mer O dopsS ey,
HSHEPN BB e, wedsod Do,
SEHM T ODS DHPS TS
3059008 Er8S HoEosd HOY S

D0RY)B” B DS Tar )& ?

a
(2)
@)
)

58 DIAS
DS, 0dH)BS;
I8 DS -
BI5BoS Jisv

DB D Hros THOD JoE0T L0d D
VOSSO Trar§oN0 (DTS0 THod ?

L D8 29 58050 30

II. %S 19

L. QS 23 $08a%s 24.

IV. &ds8516

QS RS 508S B0 AT HBS
QSRR dothod :

(1) IS0k I Smessd

(2) 1,110k IV Smedsd

(8) I S0cky v Sressh

(4) D3
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40. Consider the following statements :

41.

II.

1L
v,

Which of the statements given above are
incorrect ?

(1)
(2)
(3)
(4)

Which of the following statement(s) is/afe
correct ?

I

II.

Choose the correct answer using.thc codes
given below : w

(1)
(2)
(3)
(4)

With child labour being made illegal and right
to education becoming a fundamental right for
children, this right against exploitation has
become more meaningful.

Which of the following pairs of Articles provide
for right to education and prohibition of child

labour respectively ?

n

(2)
(3)
(4)

(18)

The Preamble was enacted before the
enactment of the entire Constitution,

The Preamble is a part of the
Constitution but has no legal effect

independently of other parts.

It is enforceble through Courts of Law.
The Objectives Resolution by Jawaharlal
Nehru finally became the foundation for
the Preamble.

I and I1 only

II and IV only

I and 111 only

I, II and III only

The PM CARES for Children Scheme|
was launched by the Prime Minister of
India on 29'h May, 2021 for the children,
It aims to support children who have

lost both the parents or.legal guardians
or adoptive parents or surviving parent
to Covid-19 pandemuc,

Both I and IT
Neither I nor I1
I only

II only

Articles 21A and 23
Articles 21A and 24
Articles 23 and 24
Articles 14 and 19

41.

§

40. 808 |HELSOD HONSOS0B :

50% Inso orarsoiio wabend's
o8003 Srrofodadod.

58% orargoriod’ 2.8 2710 SN as
arros’ Howodo Sfoa
SOIED (D250 FOLBD.

I 28 FOHPTO 'S0 ©den

Sabhachehod.
IV. 2358erd JTv oF 50 S0y

DIGH HOEH H O™ Sr808.
2 20 ) 0SSO’ IO S$) ?
(1) 18000 II SMeSH
(2) _ ITHoasn IV Smedsd
(38) TIsoBasw I Sresah *
4) o, 11 80K I Sredadh

L

IL.

1808 (HEOSOS’ DOND JBIA ?

L oo §50 H.00. 886) S0 20D,
20215 gr8eéd 1D (DrSoDordh.

I §D8-19 HHirdr8 sdeom
SDSohen B SHDSPS
DoGE Soen B e Ao
SDSo|chen B 20D &)
SOGSoIhOM §e' yons oo
P RS 180 H ©F so.

OMS A58 Ehod addriod 9o

NSFTR) OO :

(1) 156011 Bodkr+

(2) T8k II Bodr s

3 ISMSD

(4) I13redh

O 508 ISPH SYAHGPo THaY
AT TEY DYOKH I HE TN
Srodod, SvA8 Iad%mr &
0008 wfSosomr Sréod. -
808 D 28 LBaren SGhom dovp THE
T 050 QUEW) wodFan ?

(1) Q55 214 SH6a% 23 .

@) Q58 21A Hocsw 24

@ Q58S 23 Ho0% 24

@ &5 14 85 19



GS/1G/100

43. Consider the following statements regarding

45,

GST:
I. GST will bring more transparency to
direct tax laws.

II. GST was the 122 Constitutional
Amendment Bill introduced in the
Parliament.

III. GST is a destination-based tax.

Which of the statements given above is/are
correct 7

(1) TandIIonly

(2) Ilonly

(3) 1Iand III only

(4) I,ITandIII

Which of the bodies recommends the_
distribution of the net proceeds of taxes to be
shared between the Centre and the States,

and allocation between the States, the|"

respective shares of such proceeds ? _
(1)  NITI Aayog

(2) Finance Commission of India
(3) Inter State Council |
(4) National Development Council

Which of the following is not the function
of the National Commission for Scheduled
Castes ?

(1)  Providing constitutional protection to
Scheduled Castes.

(2) To submit the report to the Prime
Minister related to the protection of
Scheduled Castes.

(3)  To investigate any case that violates the
interests of Scheduled Castes.

(4)  None of the above

(19)

43.

45.

£I08.8 Jo20800 (Eos |HEES S
HOHEoS08

L 2068 H8E sy Seres
D00S DOHEESD BeNoH,

I 208 36oS & (SBIDSS
12235 02 s0ff DSt Hew.

HL £0e o3IO 650 eagrds H).
2 ADINDEOIOS’ DO SPSB/IBHD ?
(1) 1005w I Sredad

(2) 113D

(3) I SHOADNIIT Sovebad:

(4) 1,180 III

3050, TAr® G HOHETO S Doy e

D85 /Boaird) HodE Tokred, oEre

G5 MEErONOHE, ®ENS0 oTh
QOVOHS TEODH Do &)
IV ?

(1) B s3rh

(2) 2rés 5 Soo

(3) ®OST (D HAGO

@) 20D ©DIYO Ho&d

808 o8S' HA RGNS Here 280%H
E0AN DA 57 2

D DS Heresr ool SEe
§Oyo%5%0.

2) REMG Here SEeH $020800S
RVROED DF$0(B8 DB os&0.

@) RVAG  Heore HAr2ood
ool IFv o SoD
Tabdso, '

(4) m S‘Q .
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4.8. Which of the following is not a function of the

47.

Union Public Service Commission (UPSC) ?

(1)  Conduct examinations for appointments
to the services of the Union

Consultation on all disciplinary matters
Method of recruitment
Manner of reservation

(2)
(3)
(4)

Which of the following subjects are listed in

the 11*® Schedule ?

L. Women and Child Development

I Puyblic Distribution System

IIl. Libraries

IV.  Slum Improvement and Upgradation
V.  Markets and Fairs

LLIMland V
LI, IIT and IV
(3) LILIIandV
(4)  All of the above

Which of the following statements is/are
correct about the Nutional Green Tribunal ?

L It was set up under the National Green
Tribunal Act, 2010, =

II. NGT is bound by the procedure laid
down under the Code of Civil Procedure,
1908.

III. NGT has six places of sitting throughout
the country,

Choose the correct

given below ;

(1) TIonly

(2) T and 111 only
3  Tand I only
4) 1,1Iand 11

answer using the codes

46. 808 T&8S' BIOHS HAE BOH shyy,

47.

(O50.2.090.0.) DO WA O ?

(1) CHrdoHS VSO AT §hyy
5850 BTV

©Q) (EHT T JAOTORD
PSTeTPeTalo e TSV

B8 oS HOS

BB LAS HOB

118 AESS 2w

(2)

(3)
(4)
808 oS
ToLBSD DD ?
L (9% 8D35,0 -

LA H0HS S35

IIL, [fogreairen

IVy S088arde ©2d)@ SHOakh @b

AS AI5088 Fhod aHdIriod HBI
RSIETRR) DOTHEOS :

(1) LI SH8ck»V

(2) LLII, 1 805 IV

(3) I II, I &80k vV

4) DI

SASS  (AS | BengsS  HBodS 08

(DEOSOS" B 5BIA 2

L 28 J83S (AS (2058 S&o, 2010
(D5°60 Doyt FaHadod.

I D826 HDS 19hab 645, 1908 1508

- QBI0DS DD Sepad aotod

HI D523 & Biarsdom ek 15T

SO0, ‘

DS 235388 EBod andriod H0°
RIrTTR) JoHEoA :

M 1 SmsH

@) 1260w NI Sme

(@) 1H8asw1r Ses s »

4  I,11 2880 17
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49. With reference to the Protection of Human

Rights (Amendment) Act, 2019, consider the
following statements about National Human

Rights Commission (NHRC) :

1. Judge of the Supreme Court can now be
appointed as Chairperson of the
Commission.

. Term of the Chairperson and members
shall be three years.

Chairperson and members shall be
eligible for re-appointment,

118

Which of the abo;/e statements is/are correct ?
(1) TIandIlonly
(2)
(3)

4)

I1 and IIT only
I, 1T and III
I only

With reference to the National Cqmmission’for

Minorities, consider the following statements : |

I. It was set up under the Npﬁonal
Commission for Minorities Act, 1992.

II. Ministry of Welfare has notified five
" religious communities under “Minority”
status, to date.

It can make recommendations for the
effective implementation of safeguards
for the protection of minorities by
Central or State Governments.

Which of the above statements are correct ?

(1) TandIlonly

(2) 11 and ITT only

(3) I,ITandIll

(4)  IandIII only

(21)

49.

SIS TR0 HBBE e (R50) S&o,
20198 QOBOKON), 2rBAH IrSH DrBue

AN (DR Seabn) H8ods Lo

(DELION DOAFoH0G :

I Dot  iohardd anik
EAM BOIE YT AADAWOISTRY.

1. S556)8 HB0H HEHEL DHSDS'OO
NS e VRS ToINTI o) SV

I S858)S Hockn Hhgen  BOH
DAFSTVE edHen.

D HESOS IBHTIE ?

(1) 12HOCHIISrESD

(2) 80k HI SMedad

(38) 1,11 0805 I

(4) /T SMedad

28dd Dorddde EWASH DHoodod),

808 1DILSON HOHEIOIOG :

L 26 oo 2ach EAS SO,

1992 1H5°50 Jomyen TohnB08.

T oD HoE@ss 7y 2N S5L

D HBOK ToOBS TO “Daroes”
W §08 S8 BRoA.

... 30 S0l Sor o HEvEse orsor
Drodle SEm o dPSosonr
K NVOW) DoHEVE DG e
Sabiferesy., |

D DEOS0S' DA HBIA ?

(1) IH0akw I Srmedah

(2) 11 Oak INT Sr{edad -

(3 1,110 11 '

(4) IO I Soredsd »
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51'

52,

Recently, the term ‘Chicago Convention’ is
frequently seen in the news. Which of the
following sector is it associated with ?
(1)  Carbon Capture

(2) Civil Aviation

(3)  Merchant Shipping

(4)  Chlorofluorocarbons

With  reference to the Competition
Commission of India, consider the following
statements :

L. It is a statutory body established under
Competition Act, 2002 as amended by
the Competition (Amendment) Act,
2007,

II. It consists of a chairperson .and five
members - appointed by the Central
Government.

Which of the above statements is/dre correct’?
(1) Ionly

(2) Ionly

(3) BothlandlIl

(4) Neither I nor II & PN

National Bank for Agriculture and Rural
Development (NABARD) was established on
the recommendation of which of the following

Committee ?

(1) Sivaraman Committee
(2) Santhanam Committee
(3) Sarkaria Committee

(4) Rajamannar Committee

‘World Competitiveness Index’ is released by
which of the following organizations ?

(1) Institute for Management Development
(2) United Nations Development Programme
(3) World Economic Forum

(4) World Bank

Kautilya categorizes the Governments and
Heads of Departments into 18 tirthas.
Amongst these “Dandapala” is the

(1) Magistrate

(2)  Chief Council of Ministries

(3)  Officer of the Army Department

(4)  Guardian of the Forts

51.

52.

(4

[
Sty

adse, O 3508 oF H&o
L

0508, 806 o8&
ﬁrs%s oo &od ?
1) 56)S D0 -
(2 &6 DSrSoirao
8 adz;ISTaArso
(4) SEYTeE )W
soonS SAS @9 2080y,
5020800, 808 (DI Htiogey.
L 20502838 B0, 2002 & J380a
SODRS (DSG) BP0, 2007 iy
OO LR V0.
1. oSS Sold 102050 Dahlody
2 DEDoSed’ DO HBIS ?
SV ST )
2 IISressd
(3 18akw I1 Bodo™
4 I18olIsD
808 I8S" D E0es DI D FASS angef
36 oS08 ©o8 &rdd BI0DMod
(F2rf) Faotad808 ?
(1) 5070 Expes *
(2)  dowdo Ees
(3) ook E2nes
@) oz b sl

1950 FBSSs ArOLS S T8
Q0P hSe TR ? ~ -
(1) 2aSPeLreS 18 DISos
oS .
100N @ISO SO

DV0 Q8 JIDE
(DJOS 2rgosy
FeSenghy (Hebargen, Darmre 0088
18 g enrr 8560, H3S' 48007
82
(1) DS
(2) oS Hodd whHa

DS Dar bS8 -

(3)
4)  Soeo Ho088 5%

(2)
(3)
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56.

57.

Which of the following statements is correct

with respect to the State Finance

Commission ?

L It is required to appoint a State Finance
Commission once in five years.

II. It recommends the determination of
taxes, duties, tolls and fees assigned to
the Panchayats and Municipalities,

Article 243 deals with constitution of

a finance commission to review financial
position of Panchayats.

Choose the correct answer using the codes

given below :

(1) II, IIIand IV

(2) I, IlandIll

(3) landIl

(4) All of the above

Which of the following Amendment(s)

provide(s) for reservation in jobs and
admissions ?

(1) 77tk

(2) 82nd

(3) 81t

(4)  All of the above

Consider the following Assertion (A) and
Reason (R) and choose the correct code :

Assertion (A) : §
The President is the executive power of the
Union.

Reason (R) :
The executive power of the Union shall be
vested in the President and shall be
exercised by him either directly or through
officers subordinate to him in accordance
with the Constitution.

Code :

(1) Both (A) and (R) are true and (R) is the

correct explanation of (A).

Both (A) and (R) are true, but (R) is not

the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

(2)

(3)
4)

(23)

56.

57.

(2

o @8 <

L.’.)?:.)évg‘ 56 %2’.},""; g TR SR

L DTEH 2590 073 &85 Hosrdy
RODOTD ) GOLNOD.

1. Hoorahe, SN T OeSer% Eeronods

DAY N, OS5 e, S'Sen, BmSnes

AFONOBBOD RO DK TRoA.

Hoorobhae eds HOVAD

HEE 0BER8 HoTronae wds VA

DD SRS Do YD PSS 243

DSBNOB.

B8 2S5BS FHOD GHTIrA0D) BN

DR Jocnsod :

(1) II, Il 6 IV

(2) I, a8 I

(3) FeOaII +

4) DI

a8 iren,odndS’ 828ms offbo Sod

HSB@)S" DA S0V ?

(1) 77

825

(3) 813

4) DI *

808 ByNEBL (A) DB SB®O (R)
HOHBOBOB. HTS TBS VODHEOA :

I11.

FdESe (A) -
ORDB  ArIAHS 8T
®HS*G0 5O Hoerd.

5020 (R) :

dhi'&)o&& SO0 5TE  @dsdo
ORIBE  adsadod. oargolio
©5780 Foormr S S wdsos” ad)
OOSHO &7 0" ®Hew TIE.

§Gen :

(1) (A), (R) Do D20 (R) ®IE (AIS «

RO DSSED,

(A), (R) Bodhr D=0, sV (R) ©I&

(A0 OB DSGE S,

(A) D0, 5°Q) (R) &)

(A) S8, 5°Q (R) d20.

(2)

(3)
(4)
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Which of the following statements related to
the Central Administrative Tribunal are
correct ?

L It is a statutory body.

I. Its members are drawn
administrative background only.

III. It is not bound by the procedure
prescribed in the
Procedure.

IV. Its jurisdiction covers the members of

All-India services as well as Central
services and Central Government posts.

from

V. It was set up in 1985,

Choose the correct answer using the codes
given below :

(1) ILHIIandV

(2) IandIV
(3) LIHOLIVandV
(4) IlandIII

Which of the following statements is not one
of the powers of the Speaker of the Legislative
Assembly ?

(1) He has no veto except in case of a tie,

(2) A Speaker may be removed from office
by a resolution of the Assembly passed
by a majority of all the then members of
the Assembly after fourteen days notice
of the intention to move such a
resolution. ;

(3) The Speaker vacates his office if he
ceases to be a member of the Assembly,

(4) The Speaker will preside when a
resolution for his removal from office ig
under consideration of the Assembly.

59‘

Code .of Civil

&
nowS  oMARES By,
5020800 806 TS HBID A 7 %
L 20 SHaPDS S0P
I A3 HZHgo 0o Bddio S0z

SMSDH S%0erd.

m a8 238 @b ¥68" araoy,
DR EEpi OB,

IV. &3 658 K00 DO 2768 Viug
Jen Soi DS, Sold (D3,
HPOHZDIOD 556 Twoa,

Vi, 20 19856° Dom)én o230,

B3 2S5BS FhOSD GHrAod HBs
BTV, VoS

(1) 1L I SH8acs» V

2) 10801V

(3) LI IV H8as» V

4) I 805w I

808 8S D (DELS THSHY M)
Qoo 2,58 st 7

1) B IDHaHoss 85 eeds HE BD.

(2) ®en308 Sovardy (HIFDYEd
aFis 14 Gre Sdn S0¥
0D wnyel el
ol e3roo0s nod 801
oior )6 & HAD
A

(3) " )6 @0dS' HepidT aodd

GAYE S5 HEDD PP TID-:

@) VB HAD oA SSD ot
807850 0d) H8%OSS’ a5’
056 ©555 S S,
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Part C

Indian and Andhra Pradesh Economy and
Planning
Match the following :
List1
a. Trade L
b. Water Supply II. Service Sector
I11. Central Statistical

61.
List IT

Primary' Sector

¢. Fisheries
Organisation
d. GDP IV. Industrial Sector
Choose the correct answer using the codes
given below :
a. b c d
(1) 1 I v I
(2 1 v I I
3 I I I v
4) I I v 11
62. Which of the following is not included in the
National Income ?
(1) Wages and Salaries
(2) Tax Revenue
(8) Interest Receipts from Public Debt
(4) Profits of Public Sector Undertakings
83. Match the following :
List I List II
a. Iron and Steel 1. Perambur
Industry
b. Jute Industry II. *~Jamshedpur
¢.  Oil Refinery III. Kolkata
d. Integral Coach IV. Barauni
Factory
C_hoose the correct answer using the codes
given below : =
' a b c d
1) n 111 v I
@) m v 1 I
3) 1v 11 1 1
4 m I 1Y I

(25)

>BcC

ROBOH® ®OH e80|S |HTH IS wo s

61.

62,

JRohl
& 1806 SR 268 Tokwdw

ardee 11

a. IS L (@8 doficw
b. H3Hoded 1L D Sorisw

c. Sy vodd L ol fderos SoR

ards 1

d. 2.4.2. IV. 87208 Sotio
BHS A0S FEOD SIHTrHoD B
HITTTR) DOOFO :
a b c d
(1 I I v 11
(2 1L oIV it IS
(3), I N1 111 v
@i me I v I
-g-aosrc-omoé‘ TSI & (80D a'.()é‘
&7
(1) Sehdnen Hoakn Hebssnen
(2) D) SOCHAD
(3) (DVSS 205D DOB SDY S .
oraden .
4) |DDSs808 JoPO  Hod S
_er?,roo
& 808 SV 268 TS :
D1 ardas Il

8. AW, A HOFD 1. oS
b, 2IJDTEHOED I BHEFE
c. DA HOSorSSY 11, SFSse

d. Qo Bewn S IV. 259
SO o rSsn

ONS AS5DAS B AHErNOD HBS

RArETR) JorHEod :
a b c d

1) I 1 v I

(2) m v ) | 11

3 Iv 1 1 I

4) 111 1 v I
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64. When the Central Bank increases the Cash

Reserve Ratio, it leads to

L
1L

III1.
v,

Fall in money circulation.

Low demand for goods and services.
Rise in purchasing power of the people.
Rise in bank’s lending capacity.

Choose the correct answer using the codes
given below :

(1
(2)
(3)
(4)

(1)

(2)
(3)
4)

I, IIT and IV
I and IT only
I, IT and ITI
I, Il and IV

65. Statutory Liquidity Ratio is to be maintained
by banks in the form of
I.  Cash.
II. Gold. 1
[II. Unencumbered inyestments in specified
instruments. . '.
[V. Priority sector loans,
Choose the correct answer using the codes
given helow :
(1) II, Il'and IV
(2) I,ITandIV
(3 I, HandIV
(4) 1,MandIll
66. Gilt edged market comprises

Treasury Bills and Government Bond
Market,

Mutual Fund Market.

Derivatives Market.

Capital Market.

(26)

“.

G
to wo SN 0O Ay
Dods 2010
L (S8 Seraned Soeod.

38 DS Ao SHS0B.
e Sdfifen rngso ooy
©3IONT) gy

I1.

L.

IVv. oS
2SS,

B assaas Fhod adTrhod W,

DIFEER) dor§od :

(1) 1, NTH0a IV

@) " 1 50c5 11 Sread

(3) LIIdci» Il

4) I,11.08cw IV

SOEDS O838e8 DNHB wrgosen &
grHods’ dsserord

I S8,

II. 20mdaa.

1L AY3S >SS rdo B Dépaded
IV. |0Sied SOmeSd 006D,

BHS ad2AS Fhed addirhod 2
NSrTETR), ool :

(1) I, T B0 IV

2) 1,11 808 IV

@) 118D IV

4) 1,11 5805 I

AS O 8 SrB)ens' ad ad)d

(1) e Devew, Hzs s 2rod SO
(2)  SrSS Do S8y e

(3) AT YO By ew.

(4) OGS STy ew.
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67.

(27)

Non-Performing Asset as per the current

panking norms is

(1) A loan which is due during the last

90 days.
(2) A loan whose instalment of principal
and mwrest amount has remained

overdue for a period of 90 days.

whose instalment of principal

A loan
is overdue for a period of

amount
90 days.

(3)

A loan whose instalment of interest

amount is overdue for a period of

90 days.

(4)

Name of the committee on Indian banking and
financial sector reforms constituted by the
Government of India in 1991 is

Suresh Tendulkar Committee .
Committee on Financial Stability |
Committee on Financial System

Raja J. Chelliah Committee .

(1)
(2
3)
(4)

Para Banking Services in¢lude the following :
I.  Credit card business

I[I. Insurance business

III. Credit to para military personnel

IV. Factoring services

Choose the correct answer usnng t.he oodea
given below :

(1) I, ITand IV
(2) 11,11l and IV
(3) © 1,11 and III

4) L IIandIV

67.

&

DS 257080 JOHRS 1H5BAN 266
8D ST

b 90 O3S’ TSRS 22065,

90 OTON DS AEH WO
20BN GIED TONTT, SG.

90 Ao Db Addey 2B
2206950030 SN TTANET".

K 90 ATeS FIOVD AWV
56

1991 205 (HZDSB50 DTN  BIS
rd8ash arfolol, s dof Hod;ORw

E0e8 D

B8 Bodrend
’Qv&o&és DO 8es
2RO HPS Eves
o 8. Togods Enes -

(1)
(2)

(3)

(4)

@
@
@
@

>ov 2rofol Hsos & (808D A
GOLroD '

L. 38 s agdrdesw
nm  dHsr T e N

I o 1OLE D2YoAE 220e77dH e
IV. §60RHsen

OIS AS5DAS FBHOD GHANOD BB
QATTTR), DOHEAN

(1) LIDH8csw IV ¢

(2) IO, 111 SH8asw IV

(3 I, 1185 11

4) I I 08 1v
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70. Given below are two statements, one labelled

71.

" Codes

as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below,

Assertion (A) :

Goods and Services Tax (GST) introduced
in 2017 is non-inflationary.

Reason (R) :
GST system avoids tax-on-tax.

(1)  Both (A) and (R) are true and (R) is the
correct explanation for (A).

(2)  Both (A) and (R) are true, but (R) is not
the correct explanation for (A),

(3) Both (A) and (R) are false.
(4) (A is false, but (R) is true.

Match the following :
List 1 | List It

a. 10® Finance I C. Rnngarqan
Commission

b. 11" Finance I K.C.Pant
Commission

¢. 12" Finance . III. Vijay L. Kelkar
Commission

d. 13" Finance IV. A.M. Khusro
Commission

Choose the correct answer using the codes
given below :

a b c d
(1 1 1 v 111
(2) 11 v I 111
3 1 11 111 I
4) 1 v i 111

(28)

70. (806 Dot [HELIED BHIB0 20N08, 2,59

71.

Sohssm (A) sm, NS 00 (R,
Band Tohadod. OIS [S52AS ¢4,

$08 & dSroR) dothsod.
SIS (A) -
20175 HoSS 808"  IHFTDPS 3%
30 D) (B0 Saredsw,
5020 (R) :
S D3O DAY SESVS" HAND Hekoy
Ao,
3‘5,00. :

(1) (&) 26w (R) Bodr 20 HO

A8 (R) DBS DS Sea.

42) (A SO (R) Bodkr D20, sH R

OB (A)8 HBS DSGed S,
(3)  (A) Do, A (R) $5).
@ ey, s (R) 0.

& 500 A 2STasnsy :

arda | arda 11
8. 105 @Q8 Jowasn 1. 2. Sofoas
b. 1185 &5 Somwsy 11 3.2, dHos
¢ 1258055005 ML Dac®h IS

g Sens
d. 1335 Q8 Sonsn V. 3.0%. s’
OB 235288 o avEriod 589
VST DOtHEos
a b c d

SV I IV m
@ 1 v I o'
@ v q m
“4) 1 v 1 11

el
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72. Given below are two statements, one labelled

u,

as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.
Assertion (A) ;

Budget Deficit financed by printing

currency will lead to price rise,
Reason (R) :

More goods will be produced in the economy.

Codes :
(1) Both (A) and (R) are false.
(2) (A) is true, but (R) is not the correct
explanation of (A).
Both (A) and (R) are true,
Both (A) and (R) are true and (R) is the
correct explanation of (A).

(3)
(4)

Part V of the Andhra Pradesh Reorganisation
Act deals with

(1) High Court.

{2) Apportionment of Assets and Liabilities.
(3) Authorisation of Expenditure . and
Distribution of Revenues.

Management and Development of Water
Resources.

(4)

Polavaram Project is a

(1) State Project funded by the Central
Government. ' '
State Project funded by funds of the
State of Andhra Pradesh.

State Project funded by the States of
Andhra Pradesh and Telangana.
National Project.

(2)
(3)

(4)

How many Schedules are there in the Andhra
Pradesh Reorganisation Act ?

W ag Schedules

@ 14 Schedules

® 15 Schedules

(29)
72.

74.

76.

“.) 16 Schedules

73.

1806 Do (D50 S350 28008, 2508
BNE6E (A) I, DBES  s8m0 (Ryer
Band TAHDHOD. HBDD ASAS B,
HO0A D HAITFTER) JoDHFA,
S)dse (A) -
2FENSLND BN NIBOD ey
S HSen DM s on.
sd@o (R):
@08 $550S° DB IWHen &S )B
ToHaadses own.
§8en :
(1) (A) SHOAW(R) Bochr &3y).
(2) (A) dzo, 'SV (R) IO (A IBS
D38 5.
(A) 26050 (R) Bodyr Dz0.
(A)'(R) Bochr 230, (R) ®IO ()%
DBS DaSBea.

BOGOTT IS 555ES0 SROS'D 955
o BVE Ho20A0DSE

(1) 8.

2)  esew, 2reseser 252365,

@) k), soraire Hodle ®©ds* 50,

@ B I3HO DS $ire, (EEARRYAY
Fosdo 3§ :

1) 308 D5 Ao o >3,

(2) @o|BSHTF O e oo
2§ doew, g
?oLéLK)B{ » SOOI OYaren Adoen
VDB o (=8,

4)  2r8aD (2§, .

BOIOINTT PG 5558880 SS9
RAdriSen aaryay ?Q i g
(1) 18 A& seSey .

(2) 14 Dhr§Sen

(3) 15 &riSeny

(4) 16 DA sSen

3) _
(4)

(3)
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76.  Apex Council of Godavari and Krishna river | ze R0, Soar SO A8 SSden, el QGS:’Q 78, 0
water . resources and their management ©DE TS S :
ists of
o > 1) 268 (HHSs BOSIDO Do F5 (1
(1) Minister  of ‘Waler . Resources, 5838, oS L:,m. SBeome Body 2
Government of India as chairperson and GB0  TD  Hod :
Ministers of Irrigation of both Andhra oo S s , @
Pradesh and Telangana as members, RZDIEVT SO, “
(2)  Prime Minister, Government of India as @ 208 |D0Ss DTSHOB BESY, 49 1
chairperson and Ministers of Irrigation BoS (HBF, Boorer Bodk oPe of
of both Andhra Pradesh and Telangana S oy <, wi
as members, e (T€ 208 Saer (1
@ Minister  of Water  Resources, s, O, (2
Government of India us chairperson and @) o8 1SS 20SIG0e o8 35 (3
Ministers of Revenue of both Andhra S8, SOSINTT, Soomrer (4
Pradesh and Telangana as members. BoA0es DSy Solden
@) Minister  of  Water resources, L e aoerd, 0 2
Government of India as chairperson and » & _
Chief Ministers of Andhra Pradesh and )’ 4/ BES6)S™ 288 92085 meosisee @
Telangana as members, D08, Dghgenn BG|DTA, .
A Soomre SOPEDHOISe, | @
77. Government of Andhra  Pradesh “wig|77. SOPOBT (9208 50 GOGIHBY B
implementing YSR Rythu Bharosa - PM WAz €50 BV, By S - (3;
Kisan Scheme for the benefit of farmers of 50, & HSTRY e 3}
Andhra Pradesh, 2 56% foon s:” i T )
Which of the following statements are correct Shas O wibsos' o .
about the above scheme ? S i z
(1) ¥ 13500 v
(1) ¥ 13,500 s givén to a farmer's family in L 028 B Suenorng 93 W
three instalments every year. NOSS360 W popgred (2)
ad
(2) 27,000 is given by Government of D00, @)
Andhra Pradesh and € 6,000 is givenby| 2 ¥ 7,000 esoy g5 OBT (52068 50, 7 6,000 "
the Government of India, 08 929610 woakyon, 82. Wn
® ¥6.000 is given by Government of @) ¥ 6,000 wois 5088 (D208 50, T 7,000 ;:
Andhra Pradesh and ¥ 7,000 is given by EAYOT. Laa)éso 906‘:»06
the Government of Indi ’ i
of India. @ T13,000 o8 &
) 213,000 is g ; O Sotwoardg (98 o
U 18 given to a farmer’s family in Q05 850 ety (3)
four instalments every year, 2y D08 J‘QI)Q‘OJ 6
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78. One of the following welfare programmes
implemented by Government of Andhra

Pradesh is not part of Navaratnalu.

(1
(2)
(3)
(4)

Housing for all Poor
YSR Jala Yagnam
Aarogyasri

Vahana Mitra

The following App developed by Government
of Andhra Pradesh is an SOS service for

women in distress or danger.

(1)
(2)
(3)
(4)

The

Spandana

Bharosa

Disha

Prajwala

CCRC introduced by Government of

Andhra Pradesh stands for

(1)

(2)

(3)

(4)

Crop Certification Residue Control to

_certify organic farming.
L]

Crop Cultivation Registration “on
Certificate for pledging lands for bank

loan.
Crop Cultivator Rights Card  for
providing assistance to lease-helders.

‘None of the above

5. Areawise, which of the following districts of
Andhra Pradesh is the smallest ?

(1)
(2)
(3)
(4)

% Who among the following is a
weightlifting champion who hails

Parvathipuram Manyam
Palnadu

Annamayya

Kurnool

heavyweight
from Andhra

Pradesh ?

(1)
(2)
@)
(4)

Sathish Sivalingam
Kunjarani Devi

Dhruya Chakravarthi
Dandamudi Rajagopal Rao

78. SOPNBT (HELS0 ey TGy S

79.

81.

1808  HoiN soiEsred g4
SSGEy o’ 2o s,

(1) DOossE 2%

(2) BV.o0.ab. 20 ohyo

3) @83

(4) TS S .

SOPHBT |DEHS 50 ®DSHE TS Sod
OIrD BHS Bor HIrS0S’ ad) DO

§00 28 00.£.R. NS

(1) DYOBS

20 B>

3) o,

4) ER2I©

SO(SDEE (D20 50 (DIFDES .0.65.2.
(Vo1 A)

(1) POBOH SIS ATR) PeE00TRE
DO BYREB eITre oHO(S6.

wrgosy S0 §FHo Franed aEeY
DHEVE HPDES D Hod DD SIrE.

FoHOHN JIFH0 ®oBoSaDE
QoL 3D e s,
@) DI Y

JrosreIdm,

;o ot BOHHTIS 808 By
(1) DEIBHB0 250 -

(2) doryh

@) ®S)HoHy

4) Sdmen

$00 TOS'  woHETH  Tods
B JaweS PR GroDADS S ?

(1) HAD 3doko
(2) Sozoddd -

(8) 16O HESO
(4) SoBI'S oS oy

(2)

(3)
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- v RSB0 287
83. GivenAbelow are two statements, one labelled | 83, So& Bodh (DSSED - °8. a4
as Assertion (A) and the other labelled as HonEdes (AT, ST 5680 (Rym g
Reason (R). Select your answer from the codes ToHB08. BINS RIS SGe D04 4
Assertion (A) ; Ssties (A) :
There is g structural change in the
o esorado
composition of National Income in India, e,vdéﬁ%Oé‘ =3 Mﬁ
NO TS 8 S0 GOO.
Reason (R) :
The process of economic growth was PO
initiated in India. PESTéosS" ¥ 9@ T s
Codes : ‘ oS Dod,
(1) Both (A) and (R) are true and (R) is the Fhen:
correct explanation for (A),

(1) (A) 005w (R) Boky 230 80k (R

(2 Both (A) and (R) are true, but (R) is.not OB (A8 38 D366,
the correct explanation for (A). @ (A) %8 o (R) 8o &> Do, 8 @A
(3). (A)is false, but (R) is trues. - () OB DSSen 768,

(4)  (A)is true, but (R) is false. @) (A Sy, o8 (R) dzo.

@A) dao, s (R) &35,

84. The economist who said that the “Net Social

Product and the Social Income are one and the % ;"‘)56 NPT Qé.)g:, FSray eod?
same thing” is 04 258" O TS @Q5de
(1)  Adam Smith 1) ess, &

(2)  Alfred Marshall @) eSs SN

3) .. @'ﬁnvséé‘s
@) Bess, o8,

(3) P.A. Samuelson

(4)  J.R. Hicks




65/16/100

8. Given below are two statements, one labelled |85,

{33)

as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes

given below:.
Assertion (A) :
Per Capita Income decreases in a
developing country even though National

Income increases.
Reason (R) :

The rate of growth of population is higher
than the rate of growth of National Income.

Codes :
(1) Both (A) and (R) are true, but (R) is not
the correct explanation for (A).

(2) Both (A) and (R) are true and (R) is the
correct explanation for (A).

(8) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

During which Five Year Plan was the rate

of growth of Gross Domestic .Product the 86,

highest ?

(1) 9" Five Year Plan

(2) 10*" Five Year Plan

(3) 11*P Five Year Plan

(4) 12" Five Year Plan
4 87.

Which of the following i net a feature of

MGNREGS ?

I.  Guaranteed minimum wage employment

II. Rights-based employment scheme
III. Generation of wage employment in rural

areas 5
IV. Provision of nutritious food

Choose the correct answer using the codes
Riven below :

) L ImandIv
@ 1,1 and IV
3) I1, Il and IV
@ I, 1anam

(508 Bod |1DHELLSL) RS IGO0 20R08. 2808
SonEGR (A)srr, HBES sdmo (R
Bad ToHVH0H. BHS ASDAES FhHe
OB N HATTT R, NOTHEE.

S)D$8e0 (A) :
A0 GroDo VONSDHIBE @DIH0
Johed) Tiods SoHd esocho

SHheood.

5020 (R) :
A0 GO )8 Ben Sot Yy
DS Be IF0SM SO,

5‘661) :
(1) (A) 08N (R) Bodr dzo, SR (R)
T (A)E BB D58 . .

(2) (A) D6AD (R) Bodr Az0 HOc
(A)S (R) OB oS Sea.

3) (A D20, SV (R) S5).

4) MA) 83), 50 (R) 0.

D JoSSE  Werds ‘seods  Jro

2SS 18 35908 en OS50 39 B ?

(1) 95 HoSE (HerPE

(2) 1085 HOWSYG (DeT

3 115 JHoBSG |Der DK -

4) 1285 DOBSE (Her s

& 1500TVS’ D8NS 522805,

OEIL SV TS ?

L 533 383 a2a 59

IL - D8 80y O30T HesE s

OL e (oo [ess
s o8 SrAS

V. SUSTEI00 S8t ey

OIS RSJDBS FBeress

by 03011’»5'06&? AITrHOD HBS
(1) I, 108085 IV

(2) I, I 005 1v

(38) 11, 11 88y 1v

(4) 1,11 080% 111
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What is the age-group of higher proportion of
working population required for Demographic
Dividend ?

(1)  15-64 years

(2) 18 - 65 years

(3) 18 - 60 years

(4) 15 - 60 years

Which of the following are the objectives of
Beti Bachao, Beti Padhao ?

1. To provide legal assistance to girls

Il.  To reduce decline in Child Sex Ratio

III.  To encourage women empowerment

IV.  To remove gender inequality
Choose the correct answer using the codes
given below :

(1) I, and I
(2) 1,1 .and v
(3) LIandIV
(4) LIIandIV

Given below are two ﬁaﬁlnenu.j,one labelled
as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes
given below.
Assertion (A) :
National Jdncome growth fluctuates vrgth
fluctuations in Agriculture growth in India,
Reason (R) :
Weather conditions, especially rains, are
uncertain in India.

Codes :
($§) Both (A) and (R) are true and (R) is the
correct explanation for (A).

(2) Both (A) and (R) are true, but (R) is not
the correct explanation for (A).

(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.

(34)
88, BATDS ATOS SN0 SIVEWS (i

®

paay ©O% dD)B  SAOW)-Dlurgy,
o ?

(1) 16- 64 DOSSYT *

(2) 18- 656 DOSS )TN

(3) 18-60 HoSS Yo

(4) 15 - 60 HOSS oD

g8 pos B8 Sod o
EoBTISE" DT

L 2rOfoR FIod SSabINsoosi
I oo dol 33 Losd djotke.
1L | SO PHSESD | D' arothn .
IV, Dol dsrsdes Sonohe -
B3 55008 B0 AadHIrN0D HB
HIPETR) JocHeod :

(1) 11 S8csw I

(2) 11, 11 DO IV~

@) L1320 IV

4) LI SH8cs» IV

(804 Dot (HELSen 28160 20008, 2448
GoNIBR (A) ST, HEES sdwo (RIT
Bad Tobadod. BHS assads f60
$08 2 JSrETR) JosFod.
S5 (A -
>OSTHS'  Ip3rah S0
TRSPoS 8 eocad S
WIS PO HEHS08.
SO0 (R)
TESCL  HoPew, Swpgor ST
0SB0 @S0 amryow.
80 :
M (A 2B (R) Bodr Dzo HOW
(AXS (R) 9B DS Sea. +
2) (A S8k (R) Bodr dao, O *
NS (A8 35BS D360 S
@) W20, D (R) 83).

@) (A &H), 5D (R) dzo

I

GSN-

a1,

(4]
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Part D
Geography
g1, Match the following : a
z{; ::__‘:jfu‘;{‘ / Agn'culturdl 3
Regionalisation Geographer
a. Crop I. Weaver, Doi
combination
b. Crop II. Bhatia, Jasbir Singh
diversification
¢. Crop I1I. Chisholm, Bhatia
concentration
d. Agricultural IV. Kendall, Majid
productivity Husain, Jasbir

Singh
Choose the correct answer using the codes
given below :

a b c d
(1) III II v I
2 1 II 111 v
(3 I I I v
4) 1 I v I

Which of the following type of grassland
separates Cold Asia from Dry Asia?° °

(1)  Steppe
(2) Taiga

(3) Tundra
(4)  Prairie

According to the Indian Forest Act, 1927,

which of the following is the most appropriate

sequence which shows the degree of protection

between different forest types ?

(1) Reserved Forest > Protected Forest >
Village Forest

@) Protected Forest > Reserved Forest >
Village Forest

@) Reserved Forest > Village Forest >
Protected Forest

“ Village Forest > Protected Forest >
. Reserved Forest

>0 D
2D
808 3R 2SToLos ;
Za’-’iggﬁgam f,;’;gg;a" s
SeHew (VIS
a. Hosd oo I. D36, &ow
b. HoLOBIEF0 I zrel3ase, 200
~of
c. Dobrsiied 1. DS, erel3as

d. Sgsrohae)dss IV. Soad, &r2d
TUR)S, 200

~of

B0 2558588 FhoDH AHBrAod JBS
JSrERY OO

a b ) c d
(1 I 11 v I
2 a1 11 111 v -
(3) II 1 1 T
4 I 11 v I

00 FBS" D SEPS HP AWrdwen SR
BOATD DG BJAT OB I TJrow ?
1 D)

(2) D
3) eow,
4) |26

a‘bg OO YO, 1927 (HSE0, DD Ssve>
:::b .3?;:5}‘ 22; S8 Fowd Srhods
pisd $08 JANDSJS (Fo

g, 0P > T
(2) o8 DTY > ox8 o

So 205, 0 > DT
@) 6abs, IV > o -

S > ‘ &l VY > 88S
(4) ggg VY > S48 DB > 8265,
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NO

95.

Which of the following indicator species are
not found in Srivenkateshwara National Park

of Andhra Pradesh ?
(1) Wood stork

(2)  Cycas beddomei
(3)  Red sanders

(4)  Slender loris

Which of the following is the first pipeline
constructed in India for the transportation of
crude oil ?

(1) Mumbai High - Kayoli

(2) Hajira - Bijapur -~ Jagdishpur
(3) Naharkatia — Nunmati — Barauni
(4) Jamnagar - Loni

Andhra Pradesh is the sole producer of
(1) Barytes
(2) Apatite
(3) Iron ore

(4) Granite

Which of the following factors are responsible
for the higher Sugarcane production in
tropical regions @s eompared to sub-tropical
regions of India ?

I.  Cool nights with clear skies

II. Latitudinal position

1II. Long hours of sunshine

IV. High temperature disparity

Choose the correct answer using the codes
given below :

(1) IandIIonly

(2) 1,11 and III only

(3) 1,111 and IV only

(36)

94.

(4) 1,11 and IV only

@

SO BHHBTS §3088i 56 RIS I
& 808 HrdoDS D DD EADOSY ?

56 &0y

2R BEED

(3) B8 Joadb)

4) NoBbSBR:

S8 T8S w8 SIw® S Ko
2rESTHOS D00 I3 DHBS DO ?
S0038 - §ard

sho s Deripb - 206250

(3)  AIGpe3asr - DNSB - TR

@) FHHE-SD

BOISHET DBE A BT

(1) 288)

2 o>nS

(3) 2D PIBo

4) (r3eS

rESTISD ad-addode (omos
FOR ayvose owd ©Hy TE®
A 88 808 SETen A SRSy E oD ?
L 3D esiod SO oden

I ogodPso

HL  Sr&563; D80 dodrex

IV. ©6% ARIS oB5rSS

AHS RSIDAS FBOSH AITrAoD) HBS
RAFGR) JoHTod -

I So8akn IT S

I, I S8 as» 11T Sr(ed3h

I, 11 558050 1V Sy
I, IT 08050 IV S

(n
(2)

(1)
(2)

(1
(2)
(3)
(4)
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Who among the following made the first 98,
. attempt to demarcate Indian Agriculture into

4 macro regions ?

(1) Sengupta

(2) Sdasyuk

(3) Jasbir Singh

(4) Sengupta and Sdasyuk

g9, Which among the following statements are
true about Indian Steel Industry ?

1.  India is the second largest producer of

steel in the word.

II. Indian steel industry  produced
51-89 Million Tonnes crude steel with
5'1% share in the total world production.

[II. The production of steel in the year 2020
is more than the previous year.
IV. India is ranked first in the production of

crude steel.
Choose the correct answer using the codes

given below :

(1) TandIIl
(2) I,IIand]Ill
(3) TandIl

(4) TandIV

10, Match the following Geographical Heritage
Sites with the States (location) :

Geographical States
Heritage Sites j
a. Lonar Lake I. ~'Odisha

b. Siwalik Fossil Park II. Rajasthan

¢ Akal Wood Fossil IIl. Maharashtra
Park

d. Pillow Lava at IV. Himachal
Nomira Pradesh

Choose the correct answer using the codes

Biven below : )

a b c d
M g 1 m v
® m w o 1
® n v m I
W m v 1 1

100.

800 08" 2rB8aH SsSDARY 4 Qe
lro&ren N80T Fndied HCHS10 S
D ?

(1 DY

(2) g8

(8) 206 ok

(4)  DSHY B0 P

EBAH ALY HOFESHE HoodHod §od

a8’ DO Jz0?

L of) a$)88 ésdio Bods
FS0S’ Fod.

I 2rd80H @iy JoFD Indo (HHoS
a1’ 51% TS 51-89 OGNS

/ &8, S A% A58 TROA.

L 2020 HoSS) 808" @adyy ad)@ 6
HOBSIB0 50T DFVYeS.

IV. S8 afy ads)8s” résdio
IS FSoS” od.

B 28S528S FEOD AITI N0 DBV

RAFETR) Dochsod :

(1) 1805w I
(2) I, 5805 III .
(3) IHBc»IT
4) 150805 IV

808 THVE SIS 1D ered

(DTH0) SO 0B : TN,
TS DS s R
gﬁrw' | Ost0

2. S8 6. L. 8%

b. JIOE IS 36, 11 OB

c s ® = 2

d. S'oor SS 5 v . -
o &* - rSrSS (HEF
OHS BS5DBS EBercsy SO0 HBS

RITETR), JoDFod ;

a b o d
(1 1 11 I v-
@ m . g 1.
@ m I m 1
(4 1 v I I
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101.

lw.

103.

104.

Which of the following geographical series 1S
not related to Vindhyan system ?

(1) Bhander Series

(2) Bijawar Series

(3) Khondalite Series

(4) Kaimur Series

Which of the following are a result of
depositional activity of the Himalayan rivers ?
L River Terraces

II. Braided Channels

III. Alluvial Fans

IV. National Levees

Choose the correct answer using the codes
given below :

(1) IandIlonly

(2) II, III and IV only

(3) 1,11 and IIl only

(4) L IL I and IV

Which of the following Sotithern States shares

boundaries with maximum number of Indian
States ?

(1) Telang!ma

(2) Karnataka

(3) Andhra Pradesh
(4) Tamil Nadu

There is a Place-A with longitude 060° West.

There is another Place-B with longitude
090° East.

If the local time at Place-A is 10 AM, what
would be the local time at Place-B ?

(1) 8PM
(2) 10PM
3 12PM
@) 6PM

101.

102.

103.

104,

®

808 o8S' O VS FSE Dody 3p55
Ho0Ho BN ?

(1 Zosb D

@ Dersb 08D

@) BosBE DD

4) 3Brb 6% ¢

BonTssS riroch SO JLd oy
SOS0m I5)B00 B ?

I 835 BB

1. @93 oSN

M 2018084

v, araoh 3%

&HS a5 288 FhoD ADIrAod HJ&
ISR JocthE’od

(1) 1008cn I Smessd

(2) I, I 805w IV Sredad

(3) I, 118w I Smessdh

(4) 1,11, IIT So8as» IV »

808 D SEerB Oren K03 Howd

> EB0H oaros’ JHOIDON
2OTHROLTAD ?

(1) Soonre

(2) Egres

(3) eo|PHTT
4) av>rH

Bgrodo 060° HVhoS |HTHo- God.

090° r&) Bgrodod HEE (HFHoD
@oB.

©OB90-d 3@ PIE HHoho 10 GEAN
wond, (HTH0-D I FE HHoho 08
©:908 ?

(1) 8raboso

(2) 10 Jradoiso

(3) 12 aholso

(4) 6_radoldo.
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5. Consider the following statements regarding
India :

L

118

Which of the statements given above is/are
correct ?

(1)
(2)
(3)
4)

8. Match the following Irrigation Projects and
their States (location) : y

Irrigation Projects States
a. Parwan Multipurpose 1. Madhya
Project Pradesh and
Uttar Pradesh
b. Renukaji Dam Project Ik Uttarakhand
¢. Lakhwar [11. Himachal
Multipurpose Project Pradesh
4. Ken-Betwa Link IV. Rajasthan
Project
c.b°°30 the correct answer USing the codes
Biven below :
a b c d
D v m no 1
(3) I v 1 1
(4) m v I 1

G/100

India has an area of 3-28 million sq km
and accounts for about 2-4 percent of the
total geographical area of the world.

The mainland of India extends between
latitudes 8°4" N and 376’ N and
longitude 68°7' E and 97°25’ E.
Presently India has 28 States and
8 Union Territories.

I only

I and II only
I and IIT only
I, IT and 111

(39)

105. 2r3SETOE HoVOBOD 1808 DELIOD
HOneSo508

L ardsdio 328 OMMS  DISEY

aSthoed  dVGo O aod.

IL.

111,

8 SOl DS (0T eD BTLON.
28 BDIS (HELSOS. DB HTSB/OBID ?
(1) 1SrSH
2 15H8MIT S
(3) A SHBSSD 1T SreSH
.(4) LT S8cso 11T
106, S08 JBI DGO | FBPew, 3 ovFren
158H0) HOD'® oA
&IOS
(& Pen TV
a. HosS Hdv8ym L DSHDEE,
>2§ SSSHTF
b. Bensaf g Sy 35 11 aSonodH
c. o376 HYB6yS I eSS
. 2§ a1

ONS RS 52088 S8 ADIrA0D

(BH0oSR Ando FHVS BFosod
oroe) 24 TS0 T 5N aod.

2 ESEE (&S 2Sveriio
wgoTen 8°4° DS, 37°6" D Ogrodo
68°7 @, 97°25° @ NB§ DVOOD SOL.

BSo rosdiods’ 28 o,

SS-Ber g HoE 3§ V. o2s

SIFTER) JothTod ; R
a b c d

1 1 11 I v

(2) 1Iv 11 u I

(3 n v I I

@ m v I I
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107. Match the following Tiger Reserves with their
States (location) :

108.

109.

Tiger Reserves States
a. Periyar I.  Chhattisgarh
b. Sariska II. Rajasthan
c. Buxa III. West Bengal
d. Indravati IV. Kerala
Choose the correct answer using the codes
given below :

a b c d

1 1 I I v
(2) 1Iv I I 111
3 v 11 I 1
4 IV I 11 1

Phlogopite and Pegmatite minerals are related

to

(1)
(2)
(3)
(4)

Petroleum
Mica

Iron ore
Gold

Which of the following is currently the biggest
Thermal Power Plant (with an installed

capacity of 4,760 MW) in India ?

(1)
(2)

(3)

(4)

Mundra Thermal Power Station, Gujarat

The Vindyachal Thermal Power Station,
Madhya Pradesh .

Sasan Ultra Mega Power Plant, Madhya
Pradesh

Talcher Super Thermal Power Station,
Odisha

(40)

107. 808 D6 Babjod o8 CRos
$88fe 08 (1DTH0) :
26 8285) OYeley
a. BArD L 38055
b. SO II. o2PS
c. 25 L 53y Jord
d. @olos8 Iv. S

108,

109.

HOTS DATFETEIND DODE TS :

a b c d
.. I II I v
@ v o1 111
@® v I 11 RS 3%
4 1Iv 1 11 1
VST RS, MBS PAZre HO2OHODID
(1 DS'OcHo
(2 a;s- '
3) 20D P20
(4) 200080

808 o838 1HnSo rEstiodS ©8DP
B6E HIB JodS (4,760 Dorad FOI
TDGo8) 28 7

(1)
(2)

(3)

(4)

SO G8;S H3E PAS, o

oSS 5SS  H36 DS,
DGDHET

WS o Do 258 Zob.
DSHDHTF

B8 Srnb 588 36 DS, 20T



6S/1G/100

110. The greatest variety (diversity) of animal and

111.

112.

113.

14,

plant species can be found in

(1) Tropical Moist Forests

(2)  Temperate Deciduous Forests
(3) Taiga Region

(4)  Deserts and Savannas

Seasonal differences are maximum in 111.

(1) Mid Latitudes

(2)  High Latitudes
(3) Low Latitudes

(4)  Subtropics

What is the proper river order from North to
South ?

(1) Chenab, Jhelum, Ravi, Sutlej, Beas
(2)  Jhelum, Chenab, Beas, Ravi, Sutlej
(3)  Jhelum, Chenab, Ravi, Beas, Sutlej
(4)  Chenab, Jhelum, Beas, Ravi, Sutlej

Naupada Coastal and Marine Biodiversity|113.

Area (ICMBA) is located in the district of
(1)  Srikakulam

(2)  Vijayanagaram |

(3)  Alluri Sitharama Raju

(4)  Visakhapatnam

Arrange the following constituents of the
atmosphere in descending order (in terms of

their quantity) :
(1) Nitrogen, Oxygen, Argon, CO;q

(2) COZ' Argon' Oxygen. Nitl‘ogen
@) Oxygen, Nitrogen, CO,, Argon
“) " Argon, CO,, Nitrogen, Oxygen

(41)
110. 20, SH8 DO FD) JISH50 28,8

112,

114.

St )
(1) GRDoGe S5 edbyen

(2) HDHVEY sH0S) ©iHen
(3) T (@roso

4) TN DO VST e
20090 Saren AONOM GOEron
(1) DG ©FOTD

(2) ©O5 ®FoTeN.

(8) S5y wFOTED

4) adagoderen

860 ol SETDE HBS SO (EH0
e ? ‘

(1) | DTS, B0, 83, HBF, DATrD

@) Foo, DS, Dard, 83, HWE

@) Zoo, D3, 82, HArD, HBveS

@ S, o0, Do, 5D, ST

THEG B8 HHO0HH B\ BSBNSs Drosso
®@.8.00.D.0),) & 2rS* aoan
1) 2sHogo

(2)  dIANSKES0

@) WS darorg gras
(4) D%‘m&'s&io 3
TEICD0SV  &oa WO S8
(55905 088308 (aves DOAre06" |

(1) F&'=s, e8)2S, oS, co,

(2)  CO,, esg~s, ufzns, BS=S

@ @528, s, co, ues

4) &S, co, DIE=S, es8y2S
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115. Consider the following statement and answer

116.

117.

the question,

Statement :

It took more than a million years for the world
human population to attain the one billion
mark. But it took only 12 years for it to rise
from 5 billion to 6 billion.

Which of the following time period can be
represented from the statement 7

(1) 1950 - 1963

(2) 2008 - 2021

(3) 1987 - 1999

(4) 1990 -2012

According to the Scheduled Castes and

Scheduled Tribes Orders (Amendment) Act,

1976, how many Scheduled Tribes are notified

in the State of Andhra Pradesh ?

(1 31 -

(2) 33

(3) 35

(4) 29

As per Census of India 2011, which of the

following group of States and Union

Territories does -not have Scheduled Caste

Population ?

(1) Nagaland, Sikkim, Tripura, Lakshadweep

(2) Nagaland, Lakshadweep, Andaman and
Nicobar Islands, Mizoram

(3) Nagaland, Lakshadweep, Andaman and
Nicobar Islands, Mizoram, Arunachal
Pradesh

(4) Dadra and Nagar Haveli, Andaman and
Nicobar Islands, Tripura, Mizoram

(42)

lls.

116,

117.

808 (DEOLSD HorSotod, (D%
DIFErS0 A5 08,

(DS :

DO Sresed BT 2% DOOHS SrByed
HEHESa08 2.8 DOADHS VOISO ot
oz DO HPod. s BB 5 HOAHS
H0B 6 DOCHID 2HEEERAE  3dwo
12 H03S )0 HEod.

208 BS D HHADH SO DHELS Hod
DO ?

(1) 1950 - 1963

(2) 2008=2021

(3) 1987~ 1999

(4)" 1990~ 2012

BnAmS Seren, NATG 8o ASHIO
(B352) SO, 1976 D0, BOIIDTT
oo A0 NS BHen SBD T ?
(1) 31
(2)
(3)
(4)

-

33
35
29

2011 rés 2 B |Hsdo, Sod
oaren, Sodyds | Frosed’ ndrd
Hoere 282 28 B ?

(1) arerod, D50, [BHS, 0 HD *

2 arerod, 08850, ®odsrS, N8
Ayen, oo .
rerod, 08050, ®odirS, o8
Byen, NE'G0, oSS |HET
o, S8 53O, wossrS, Db
Byen, 1800, DE'Go

(3)

(4)
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118. Match the following (Sex Ratio) - 118. 208 39 26 TaHod Dok DN YY)
List I List IT
apda | e 11
a. Puducherry I. 993 1 993
b. TamilNadu 11 1087 B . 30k
¢. Lakshadweep III. 996 Ay g ‘
c. ©LBD I11. 996

d. Andhra Pradesh IV, 946 g
Choose the correct answer using the codes d. eo|SHTF Iv.
B aS508S FhHOD SITrAoD 1B

given below :
a b 5 d HIrR) dochsiod :
a b c d
oS V. m Ay L, H W
@ 1 I IV m @ m 1 IV I
(3 1 11 v (3 1 it v 1
; 4 1 I m I
(4) 11 I -
R . 119. $r8) 2019 38 2r58Fi0S dos TS0
119. What percentage of rail routes were electrified Ded Srgren DIAE8oTE ?
) 4% @)/ 5091% -
::)’ ::‘i’zo: ‘ @  6212%
' \ 120. & 808 ©o8 ~
120, Match the following' Coal-based ‘Thermal A A5 a,dé;??o g";) gg‘off’dg? HS6
Power Stations and their States : 5 206 :
List 1 e It _ (z};"&;& e 11
(Thermal Power te) - (O erev)
Station) b Yaind)
a. Kudgi I. Chhattisgarh 8. 1 Soan L 38%55
b. Kahalgaon II. Karnataka ' b. §rerS L. ¥grens
¢ Sipat mL. UP. ¢ S ML Giod.
d. Dadri IV. Bihar d o6 IV. HHE

Cho“e the correct answer using the codes v&n’é 963&6«6 S‘&o‘;’» GHTrHoD K)gé
given below - QAFTTR), DOHECS :

a b c d " s ¢ d
m 1 m v Q.1 1 m v
(2) I v 1 11 (2) NI v 1 I «
@ W o m @ Iv I m o1
W g v m I @. o av ur o1



